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Converting Repeating Decimals to Fractions Name:
Rewrite each infinitely repeating decimal asa rational number (fraction). Answers
1) 9.2984 2) 3.614
1.
2,
3.
4.
3) 1.23216 4) 74.335
5.
6.
7.
8.
5 0.196 6) 0.89430
9.
10.
7) 0.2455 8) 43.91
9 0.1106 10) 3.310
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Converting Repeating Decimals to Fractions

Name:. Answer Key

Rewrite each infinitely repeating decimal asa rational number (fraction). Answers
1) 9.2984 2) 3614 83686/
f =9.2084 f=3614 1 9000
10,000f = 92984.4 1,000f = 3614.4 32537
- 1,000f = 09298.4 - 100f =0361.4 2 900
9000f = 83686 900f = 3253 121984
B 83686/ B 3253/ 3. 99000
f= 9000 f= 900 23502
/.
4. 990
3) 1.23216 4) 74.335 195/
f=1.23216 f=74.335 5. 990
100,000f = 123216.16 1,000f = 74335.35 88536
- 1,000f =001232.16 - 10f =00743.35 6. 99000
99000f = 121984 990f = 73592 2431/
_ 121984, _ 73592 7 9900
f= 99000 f= 990 3952/
8. )
5) 0.196 6) 0.89430 996/
f=0.196 f = 0.89430 9. 9000
1,000f = 196.96 100,000f = 89430.30 3277/
- 10f=001.96 - 1,000f = 00894.30 10. 990
990f = 195 99000f = 88536
195 88536
f=""7500 f=""799000
7) 0.2455 8) 43.91
f = 0.2455 f=43.91
10,000f = 2455.55 100f = 4391.1
- 100f =0024.55 - 10f =0439.1
9900f = 2431 90f = 3952
2431 3952
f=""75000 f=""7%
9) 0.1106 10) 3.310
f =0.1106 f=3.310
10,000f = 1106.6 1,000f = 3310.10
- 1,000f =0110.6 - 10f=0033.10
9000f = 996 990f = 3277
996 3277
f = / 9000 f = / 990
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